SAP ABAP table CRM MKTPL DEAL {Dialog structure Deal}
CRM_MKTPL_DEAL-PLANGROUP = CGPL_PLANGRP-PLANGRP
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CGPL_PLANGRP
CLIENT [CLNT (3)]
APPLICATION [CHAR (3)]
PLANGRP [CHAR (4)]

CGPL_PRIO
CLIENT [CLNT (3)]
PRIORITY [NUMC (3)]

CRMC_IM_PRINTER

MANDT [CLNT (3)]
PRINT_ID [CHAR (12)]

CRMC_MKTCA WFT

CLIENT [CLNT (3)]
MKTCA WFTASK [CHAR (4)]

CRMC_MKTPL_AUTHG

MANDT [CLNT (3)]
AUTH_GROUP [CHAR (4)]

CRMC_MKTPL_CHAN

MANDT [CLNT (3)]
CHANNEL [CHAR (4)]
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CLIENT [CLNT (3)]

SURVEYID [CHAR (32)]

SURVEYVERSION [NUMC (10)]
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T002
SPRAS [LANG (1)]

TCURC
MANDT [CLNT (3)]
WAERS [CUKY (5)]

TFACD
IDENT [CHAR (2)]




